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B2 4E %% 1000m
Fix 2 275 1
148
EHIE #84 No. K#£ g B/a 24 L k=
1 1 34 HHF MIAI5T 204425 Q
2 3 36 /hth TRE PFEVHITT 204679 Q
3 6 33 H\H £t HEYSD 3.16.968
4 7 28 THI f&A HEYSD 3.18.160
248
EHIE #8E& No. K#£ g B/R 24 L k=
1 2 35 A¥H BEH PFEURZHST 2.10.933
2 4 31 M FIE HEIST 2.15.145
3 5 32 @FEE HEIST 3.16.024
4 8 29 B H HEIST 3.28.934
5 9 30 SEE BN WEITD 426516
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[EF4F B F 1000m

59Uk JBfL No K4 B B BAL S B 152 2% B 1 B0 5K k=

FE 1 34 HH B MIA+IST 1 2.04.425
2 35 8% BEH PFUVIHST 1 2.10.933
3 36 /hth wH PFUVIHST 2 2.04.679
4 31 ¥ FifE WEITT 2 2.15.145
5 32 7 = WEITT 3 3.16.024
6 33 HHF £th WEITT 3 3.16.968
7 28 Wl &M WEITT 4 3.18.160
8 20/ &R WEITT 4 3.28.934
9 30 =@ &N WEITT 5 426516
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FERFR2=F7a— b SVIRE—RR7T—FEFEF LIRS 205108 12H

KP4 %} 1000m

148
EHIE #84 No. K#£ E B/a 24 L k=
1 1 35 A% BEH PFEUVTHST 34 2.03.566

2 2 34 HH E MIAOS5T 21 2.03.766

3 3 36 /hth TEE PFEUVIHST 13 2.04.011

4 4 31 M FIE HEIST 8 2.07.597
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R4 B F 1000m

59Uk JBfL No K4 & B BAL S B 152 2% B 1 B0 5K k=

R 1 3B AHR BEM PFUVIHST 34 1 1 2.03.566
2 34 hFEF 2 MIA+IST 21 2 1 2.03.766
3 36 /hth FmEa PFUVIHST 13 3 2 2.04.011
4 31 ¥ FifE HEITT 8 4 2 2.07.597

FE 5 RFEE WEITT 3 3.16.024
6 33 HHF £th HEITT 3 3.16.968
7 28 Wl &M WEITT 4 3.18.160
8 20/ &R WEITT 4 3.28.934
9 30 =@ &N WEITT 5 426516
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B No K4 & B4 SF JEfZA 500 1000 B5IER Re=ttd  EE
1 3B AH BEH PFEURZHST 68 2 1 1 01-01  2.03.566
2 34 hF 2 MIA+IST 42 4 2 2 02-02 2.03.766
3 36 /hth A PFEURZHST 26 6 3 3 03-03 204011
4 31 ¥ FifE HEITT 16 8 4 4 04-04 2.07.597
5 33 AHF £t WEITT 12 6 6 06-06 3.16.968
6 29/ R WEITT 13 5 8 05-08 328934
7 28 Il 8M WEITT 14 7 7 07-07 3.18.160
8 30:=@E &N WEITT 17 8 9 08-09 426516
9 32 FE = WEITT - 5 3.16.024

Loxl)—

C-AFa1J—K




B BT (SIEED
(Ta—Frou o)

FNERFRO2=ZF7a—rSVIRE—RR7—rEFEFIDLUKRS 205108 12H
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FiE 2 2

148

EIE #48 No. K% FiiE Ba 4L EE
1 1 35 A% BEH PFEUVTHST 100585 Q

2 3 34 HH E MIA+O5T 100735 Q

3 5 29 B & HEIST 1.33.854

4 7 28 THI f&A HEYST 1.34.218

5 8 30 E@E BN WEITD 1.34.308

248
EIE & No. K% R B 4L EE
1 2 31 # #FiiE HEIST 102480 Q
2 4 36 /hth TRE PFEUVIHIT 1.05634 Q
3 6 33 HH = HEIST 1.37.344

32 Rk = HEIST Disq 178599
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B2 BF 500m

59Uk JBfL No K4 & B BAL S B 152 2% B 1 B0 5K k=
& 1 35 FH BEH PFEURZHST 1 1.00.585
2 31 ¥ FiE HEITT 1 1.02.480
3 34hH fE MIAtIST 2 1.00.735
4 36 /hth FTER PFEURZHST 2 1.05.634
5 297 &R WEITT 3 1.33.854
6 33 HHF £th WEITT 3 1.37.344
7 28 Wl &M WEITT 4 1.34.218
8 30 =@ &N WEITT 5 1.34.308
32 Rk & WEITT Disq
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FNERFRO2=ZF7a—rSYIRE—RR7—rEFHEFILUKRE 205108 12H

{E=24F %% 500m
148
EIE #48 No. K% FilE Ba B4 L =
1 1 35 A% BEH PFEUVTHST 34 59.341
2 2 34 HAH E MIA+O5T 21 1.00.142
3 3 36 /hth TR PFEUVIHST 13 1.00.391
4 4 31 M FIE HEIST 8 1.00.420
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FRRFRS1=2T7a— IV IRE—F R —MEFEF LIRS

[ELF BF 500m

59Uk JBfL No K4 & B BAL S B 152 2% B 1 B0 5K k=
R 1 3B AH BEM PFUVIHIST 34 1 1 59.341
2 34 hFEF 2 MIA+IST 21 2 2 1.00.142
3 36 /hth A PFEVHIST 13 3 2 1.00.391
4 31 ¥ FifE WEITT 8 4 1 1.00.420
FE 5 297 F® HEITT 3 1.33.854
6 33 HHF £th WEITT 3 1.37.344
7 28 Wl :&A WEITT 4 1.34.218
8 30 &N WEITT 5 1.34.308
32 Rk & WEITT Disq
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IEGE No K4£ g Ba SF IEfE 500 BEIER Reitix  (EE
1 3B AEH BEEH PFEVHIST 34 1 1 01
2 34hHF fE MIA+IST 21 2 2 02
3 36 /hth A PFEVHIST 13 3 3 03
4 31 ¥ FifE HEITT 8 4 4 04
5 33 HHF £t WEITT 6 6 06
6 297 &R HEITD 5 5 05
7 28 Wl :&A WEITD 7 7 07
8 30 =@k &N WEITT 8 8 08
9 32 FE E WEYST -
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FOREHFES2=—7a— SV RAE—RFRT—MEFEFIALRE k20108 12H
B 4E ZcF 1000m
FiE 2 275
148
EIE #448 No. K% FiiE Ba A4 L =
1 2 46 HATF FE PFEUVZHST 2.06.087 Q
2 4 42 ®WME HF HEIST 213478 Q
3 5 40 BT # HEIST 2.16.135
4 7 39 B OBE HEYST 2.16.467
5 10 38 B RS WEITT 3.56.475
248
EHIE #84 No. K#£ iE B/a 24 L BE%
1 147 vt tRE PFEUVIHST 201.714 Q
2 3 44 INE EHF PFEUVIHST 209.761 Q
3 6 45 KB BFE PFEUVZHIT 2.16.280
4 8 31 HREZE E HEYST 2.27.224
5 9 43 HH #ZxE HEIST 2.59.001
6 11 41 ™ HFEF HEIST 3.35.332
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[E224 %F 1000m

S59UR JBfL No K4 Bl B BAL S B 152 2% B 1 B0 5K k=

FE 1 47 /N RE PFUVIHIST 1 2.01.714
2 46 A FE PFUVIYST 1 2.06.087
3 MINE HBRF PFUVIYST 2 2.09.761
4 2wmR HE HEITT 2 2.13.478
5 40%5T # WEITT 3 2.16.135
6 45 K¥F EBF PFUVIYIIT 3 2.16.280
7 39 #iE WX WEITT 4 2.16.467
8 31 =RE E WEITT 4 2.27.224
9 43 HH Fx HEITT 5 2.59.001
10 38 HE Wi WEITD 5 3.56.475
11 41 % HFEF WEITT 6 3.35.332
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B2 ZF 1000m
Y

148

EIE #48 No. K% FiiE Ba B4 L =1
1 147 vt tRE PFEUVIHST 34 2.00.715

2 2 46 HP FE PFEUVZHIT 21 2.04.751

3 3 44 INE EHF PFEUVIHIT 13 2.05.511

4 4 42 WE HE HEDST 8 2.16.880



AT IESL

va—kcov IR

_%20@§¥?§91:793—I~|~5“J77\E—FX’7'—|~5§$$§2$52U_U(§

(€:1.:3:]) [0

[E224 %F 1000m

S59UK BB No K4 Bl B BAL S B 152 2% B 1 B0 5K k=

REE 1 47 Ihth {BE PFUVIIST 34 1 1 2.00.715
2 46 HP FE PFUVIIST 21 2 1 2.04.751
3 MINE BRF PFUVIYIST 13 3 2 2.05.511
4 2mR HE WEITT 8 4 2 2.13.478

FE 5 40FT WEITT 3 2.16.135
6 45 K¥F EBF PFUVIYST 3 2.16.280
7 39 #FiE IEE HEITT 4 2.16.467
8 31 =RE E WEITT 4 2.27.224
9 43 HH Fx HEITT 5 2.59.001
10 38 HE Wi WEITT 5 3.56.475
11 41 % BFEF WEITT 6 3.35.332
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FOERHFE D1 =7a—rFVIRE—R Ry —MEFEFLILRE

AT IEHL

(BB IES)

IE#E No K% & B4 SF JEfZA 500 1000 &5IER Re=ttd EE
1 46 B F=E PFUVIIST 55 3 1 2  01-02 2.04.751
2 AT M fRE PFUVIIST 55 3 2 1 01-02  2.00.715
3 MINE BRF PFUVIYST 26 6 3 3 03-03 205511
4 @R IF WEIST 16 8 4 4 04-04 2.13478
5 39 #iE ILE HEITT 12 5 7 05-07 2.16.467
6 45 K¥F BF PFUVIYIST 12 6 6 06-06 2.16.280
7 31T BRE ME WEITT 15 7 8 07-08 227224
8 40%5T # WEIZD 13 8 5 05-08 2.16.135
9 38 HhE RiE WEITT 19 9 10 09-10 3.56.475
10 43 HHE #FE WEITT 19 10 9 09-10  2.59.001
11 41 % BFEF HEITT 22 11 11 11-11  3.35.332
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B4 &+ 500m
¥iE 3 2% + 2% 1
148
EIE #48 No. K% FiiE Ba 4L EE
1 3 44 INE BRF PFEUVIHST 104149 Q
2 4 42 ®WME HF HEIST 106079 Q
3 8 31 EHRZE iE HEYST 109593 g
4 11 41 W HFEF HEIST 1.46.051
248
ZIE 58 No. K4 i Ba  BML EE
1 1 46 Hb F=E PFEUVTHST 57.916 Q
2 5 45 KB BFE PFEUVZHST 106322 Q
3 7 39 #¥E BEE HEIST 107302 g
4 10 43 FHH FE HEIST 1.25.197
K} |
EIE #48 No. K% FiiE g8 4L EE
1 2 47 I {RE PFEUVIHST 100313 Q
2 6 40 AT # HEIST 108789 Q
3 9 38 B L WEITT 2.04.541
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FOEKRF RO =T a— SV RE—F R —MEFEFDILAS

K4 ZF 500m

S59UK B No K4 Bl B BAL S B 152 2% B 1 B0 5K k=

FE 1 46 AP FE PFUVIIST 1 57.916
2 47N fRE PFUVIIST 1 1.00.313
3 MINE BRF PFUVIIST 1 1.04.149
4 2mR YE WEITT 2 1.06.079
5 45 K¥F BF PFUVIIST 2 1.06.322
6 40%5T # WEITT 2 1.08.789
7 39 #iE WX WEITT 3 1.07.302
8 31T =RE ME WEITT 3 1.09.593
9 38 HE RiE WEITT 3 2.04.541
10 43 HH #% WEITT 4 1.25.197
11 41 % HFEF WEITT 4 1.46.051
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B4 &+ 500m
2 2 275 ]
148
EIE #48 No. K% g Ba B4 L =1
1 1 46 Hb F=E PFEUZHST 58.739 Q
2 3 42 ®WME B HEIST 104868 Q
3 6 45 KB BFE PFEUVZHST 1.06.950
4 7 31 HRZE FE HEISD 1.08.036
248
EHIE #E& No. K#£ iz B/R 24 L k=1
1 2 47 It {RE PFEUVIHST 59.041 Q
2 4 44 INE EHEF PFEUVIHIT 102048 Q
3 5 39 #E I©ExE HEIST 1.06.721
4 8 40 AT # HEIST 1.08.834
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K4 ZF 500m

S59UK B No K4 Bl B BAL S B 152 2% B 1 B0 5K k=

#R 1 46 AR FE PFUVIIST 1 1 57.91
2 47N fEEE PFUVIIST 1 1 59.041
3 nm@R HE WEITT 2 2 1.04.868
4 44 INE EFRIF PFUVIIST 2 1 1.02.048
5 39 #FiE IE WEITT 3 3 1.06.721
6 45 K¥F BF PFUVIIST 3 2 1.06.32
7 331 BRE WME WEITT 4 3 1.08.036
8 40E5T WEITT 4 2 1.08.78

FE 9 38 HE FRiE WEITT 3 2.04.541
10 43 HH #% WEITT 4 1.25.197
11 41 % HEF WEITT 4 1.46.051
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FOERFES 127 a—NIvIRE—R Ry —MEFIEFDILRS T RE204E10H12H
K4 ZF 500m
R

148

EIE 48 No. K% Gl Ba B4 L E=E
1 1 46 HAH F=E PEUVIHST 34 58.455

2 2 47 Nt {RE PFEURZHST 21 58.627

3 3 44 INE EFF PFEURZHST 13 1.00.997

4 4 42 HWE T HEITD 8 1.05.150
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K4 ZF 500m

59K B No K4 Bl B BAL S B 152 2% B 1 B0 5K k=

REE 1 46 A FE PFUVIIST 34 1 1-1 57.91
2 AT M fRE PFUVIIST 21 2 1-1 58.627
3 MINE BRF PFUVIIST 13 3 2-1 1.00.997
4 N H#E HE WEIST 8 4 2-2 1.04.868

#RE 5 39 ¥iE MR WEITT 3 3 1.06.721
6 45 K¥F EBF PFUVIIST 3 2 1.06.32
7 31T BRE ME WEITT 4 3 1.08.036
8 40E5T WEITT 4 2 1.08.78

FE 9 38 HE L WEITT 3 2.04.541
10 43 HH #% WEITT 4 1.25.197
11 41 % HFEF WEITT 4 1.46.051
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B No K4 il Ba SF IEfE 500 BEIER Reiiix (EE
1 46 Hh F=E PFUVIHIST 34 1 1 01
2 AT M fRE PFUVIIST 21 2 2 02
3 MINE BRF PFUVIIST 13 3 3 03
4 2w/RE HE WEITT 8 4 4 04
5 39 #iE ILE WEITT 5 5 05
6 45 K¥F BF PFUVIIST 6 6 06
7 31T BRE ME WEITT 7 7 07
8 40E5T # WEITT 8 8 08
9 38 HE RiE HEIZT 9 9 09
10 43 HH #% WEITT 10 10 10
11 41 % BFEF WEIZT 11 11 11
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ISE=s=r77 3

FOREHFES2=—7a—rovIAE—FRRT—MEFIEFDIUXRS k20108 12H
oeakid %% 500m
¥ 3 V275 +2

148

EIE #BE No. K% Bl Ba  BML EE
1 2 22 WER #HEK PFEUVIHST 54.180 Q CR
2 6 19 HRR & HEIST 57.302 Q

3 9 18 EfE BN HEIST 1.10.799

4 12 17 % ¥t HEYSD 1.14.888

248

EHIE #8E4 No. K TE B/R 24 L k=
1 3 15 AT ¥ HEIST 55.914 Q CR
2 5 23 AEH EKXER PFEUIHST 57.129 Q

3 7 16 =#H @A MIA+O5T 59.762 q

4 11 14 FHith FX HEIST 1.02.980

K} |

EHIE #E4 No. K TE B/a 24 L k=
1 1 21 Zith K HEIST 53.555 Q CR
2 4 12 Fgith GEH HEIST 55.405 Q CR
3 8 13 ERRIE HEIST 100236 q

4 10 20 FH+= fEh HEIST 1.01.485
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B BF 500m

59Uk B No K4 Bl B BAL S B 152 2% B 1 B0 5K k=

FE 1 21 Fih BHK WEYST 1 53.555
2 22 TR thik PFUVIIST 1 54.180
3 158TF ¥ WEYST 1 55.914
4 12 Fith EE WEITT 2 55.405
5 23 AF [EAXRER PFUVIIST 2 57.129
6 19ERR & WEIST 2 57.302
7 16 =3H WA MIA+95T 3 59.762
8 1B3ERR E WEIST 3 1.00.236
9 18=# E|EN WEIST 3 1.10.799
10 20 A+A B WEYST 4 1.01.485
11 14 Fith FX WEITT 4 1.02.980
12 17 % Hth WEITT 4 1.14.888
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=5 E %% 500m
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148

EHIE 84 No. K TE B/a BN k=
1 1 22 WER thik PFEUVIHST 53.517 Q CR
2 4 15 HT # HEIST 55.730 Q CR
3 5 19 HRR & HEIST 56.597

4 8 16 =#H @A MIA+O5T 1.01.539

248
EHIE 84 No. K TE B/R EEN k=
1 2 21 FHith X HEIST 54.044 Q CR
2 3 12 Fgih jEH HEYST 54.775 Q CR
3 6 23 AEH EKE PFEUIHST 57.854

4 7 13 ERRE HEIST 59.664
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=FE BF 500m

59K B No K4 Bl B BAL S B 152 2% B 1 B0 5K k=

R 1 22 TR HER PFUVIIST 1 1 53.517
2 21 Fith XK WEIST 1 1 53.55
3 12 % EH WEITT 2 2 54.775
4 158TF # WEIST 2 1 55.730
5 195RR & WEIST 3 2 56.597
6 23 HF [EARER PFUVIIST 3 2 57.12
7 13ERR E WEYST 4 3 59.664
8 16 =3 A MIA+o5T 4 3 59.76

FE 9 18:&EEE BN WEYST 3 1.10.799
10 20 A+A B WEYST 4 1.01.485
11 14 Fith FX WEYST 4 1.02.980
12 17 % Hth WEYST 4 1.14.888
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=5 E %% 500m

148

HIE #4& No. K4 TE (3= A Ls k=

1 1 22 PR A8k PEURIHIST 34 52.902 CR

2 2 21 Fith K HEYSD 21 52.976 CR

3 3 12 Fyith &t HEYST 13 53.563 CR

4 4 15 FT & HEYST 8 56.778
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FRRFRS1=2T7a— IV IRE—R R —MEFEFDILAS

=FE BF 500m

59Uk B No K4 Bl B BAL S B 152 2% B 1 B0 5K k=

REE 1 22 R i PFUVIHST 34 1 1-1 52.902
2 21 Fith X WEYST 21 2 1-1 52.976
3 12 &M EH WEITT 13 3 2-2 53.563
4 158T # WEYST 8 4 2-1 55.730

#xE 5 195RR R WEYST 3 2 56.597
6 23 AHF [EARER PFUVIHST 3 2 57.12
7 13ERR E WEYST 4 3 59.664
8 16 =3 A MIA+o5T 4 3 59.76

FE 9 18:EEE BN WEYST 3 1.10.799
10 20 A+A B WEYST 4 1.01.485
11 14 Zgith FX WEIST 4 1.02.980
12 17 % Hth WEYST 4 1.14.888
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FOEKRFR 127 a—rFvIRE—R Ry —NEFHEFLILRE

B No K4 g Ba SF IEfE 500 BEIER Reittx (EE
1 21 Fith HX WEIST 21 2 2 2
2 22 TR thik PFUVHST 34 1 1 1
3 12 &M EHE WEITT 13 3 3 3
4 195RR & WEYST 5 5 5
5 155TF ¥ WEYST 8 4 4 4
6 23 AHF [EARER PFUVHST 6 6 6
7 16 =H @A MIA+95T 8 8 8
8 1B3ERR E WEIST 7 7 7
9 20 AtAE B WEYST 10 10 10
10 18 =@k =S WEYST 9 9 9
11 17 % Hth WEYST 12 12 12
12 14 Zith FX WEYST 11 1 11
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F0RREHFES1=7La3—SVIRE—R R —NEFHEFDILRE ER20510812H
oeakid %% 1000m
Fix 2 12
148
EIE #48 No. K& FilE A4 L
1 1 21 Zith K HEIST 1.53.068
2 3 12 Fgih GEH HEYST 1.54.501
3 6 23 AEH EKE PFEURZHST 2.01.233
4 8 13 HRR E HEIST 2.03.364
5 9 20 H+= B HEIST 2.05.419
6 11 14 Zgith BXK HEIST 2.09.197
248
EIE 848 No. K% g 24 L
1 2 22 WER #HEK PFEUVIHST 1.54.259
2 4 19 HRR T HEIST 1.58.697
3 5 16 =#H @A MIA+O5T 1.59.664
4 7 15 HT ¥ HEIST 2.02.892
5 10 17 # Ht HEYST 2.06.615
6 12 18 SEfkE &\ HEIST 2.28.009
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FOEKRFRO1ZTa—rFYIRE—FR 7T —MEFEFDLRS

BF4 BF 1000m

59Uk B No K4 Bl B BAL S B 152 2% B 1 B0 5K k=

FE 1 21 Fih #HK WEIST 1 1.53.068
2 22 TR thik PFUVHST 1 1.54.259
3 12 %t EH WEITT 2 1.54.501
4 195RR &K WEITT 2 1.58.697
5 16 =3 @A MIA+o5T 3 1.59.664
6 23 HF EARER PFUVIHST 3 2.01.233
7 155TF ¥ WEIST 4 2.02.892
8 1B3ERR E WEIST 4 2.03.364
9 20 AtAE B WEIST 5 2.05.419
10 17 %% Hth WEIST 5 2.06.615
11 14 Zith FX WEIST 6 2.09.197
12 18 =ik =S WEITT 6 2.28.009
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148
EHIE 4 No. K£ TiE B/a BN k=
1 1 21 Zith K HEIST 34 1.49.773

2 2 22 MR #HEk PFEUVIHST 21 1.50.161

3 3 12 Fgith GEH HEIST 13 1.51.407

4 4 19 FHRR E HEYST 8 1.55.945
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BF4E BF 1000m

S59UR B No K4 Bl B BAL S B 152 2% B 1 B0 5K k=

REE 1 21 Fth BK WEIST 34 1 1 1.49.773
2 22 TR thik PFUVHST 21 2 1 1.50.161
3 12 &M EHE WEIZT 13 3 2 1.51.407
4 195RR & WEIST 8 4 2 1.55.945

FE 5 16 =H @A MIA+o5T 3 1.59.664
6 23 AHF EARER PFUVHST 3 2.01.233
7 155TF ¥ WEIST 4 2.02.892
8 1B3ERR E WEITT 4 2.03.364
9 20 AtAE B WEIZT 5 2.05.419
10 17 %% Hth WEIZD 5 2.06.615
11 14 Zith FX WHEIZD 6 2.09.197
12 18 =ik =S HEIZT 6 2.28.009
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B4z No K4 Bl B4 SF JEfZA 500 1000 B5IER R=ttE  EE
1 21 Fith HX WEIST 55 3 2 1 01-02 1.49.773
2 22 R thEk PFUVHST 55 3 1 2 01-02 1.50.161
3 12 Fith WEIST 26 6 3 3 03-03 1.51.407
4 195RR & WEIST 8 9 5 4 04-05 155945
5 155TF & WEIST 8 11 4 7 04-07 2.02.892
6 23 AHF [EARER PFUVHST 12 6 6 06-06 2.01.233
7 16 =H A MIA+o5T 13 8 5 05-08  1.59.664
8 1B3ERR E WEIZD 15 7 8 07-08  2.03.364
9 20 AtAE B WHEIZD 19 10 9 09-10 2.05.419
10 18 &k J|EN WHEIZT 21 9 12 09-12  2.28.009
11 17 % Hth WHEIZT 22 12 10 10-12  2.06.615
12 14 FGith FX WEIZD 22 11 11 11-11 2.09.197

Lozl)—

C-AFaJ—Fk




AR IE % (59 KR
ICE=S=r77 23

FERFR1=Fa—MIVIRE—FRT—NEFEFILUXE 205108 12H

= E %f 1500m

148
EHIE #4 No. K£ & B/a EEN k=
1 1 21 Zith K HEIST 34 2.50.468

2 2 12 Fgith GEH HEIST 21 2.50.870

3 3 22 MR ik PFEUVIHST 13 2.52.299

4 4 19 FHRR E HEIST 8 2.57.963

5 5 15 HT #% HEIST 5 3.06.013



AR NEELFR (RERE R IEfL)
va—khov IR

FXEKRFROAZTOa—rSVIRE—FRr—MEFEFDLRS

=FE BF 1500m

59K B No K4 i@ B IBAL S B 52 25 X 11 B0 5K k=
REE 1 21 Fth BK HEIZD 34 1 2.50.468
2 12 &t EHE WHEIZD 21 2 2.50.870
3 22 TR thiEk PFEUVHST 13 3 2.52.299
4 195RR & HEIZT 8 4 2.57.963
5 155TF ¥ HEIZT 5 5 3.06.013
Lozl)—

C-AFaJ—K




AR IBHE (B IED)

FOERFR 127 a—rFVIRE—FR 7 —MEFEFTILKRE

B4z No K4 Bl B4 SF JEfZA 500 1000 B5IER Re=attE  EE
1 21 Fith HX WHEIZD 89 1 3 2 1 01-02 1.49.773
2 22 R thEk PFUVHST 68 3 3 1 2 01-02  1.50.161
3 12 &M EH WEVST 47 2 6 3 3 03-03 1.51.407
4 195RR & HEIZD 16 4 9 5 4 04-05 155945
5 155TF & HEIZT 13 5 11 4 7 04-07 202892
6 23 AHF EAKRER PFEFUVHFT 12 6 6 06-06 2.01.233
7 16 = A MIA+95T 13 8 5 05-08  1.59.664
8 1B3mRR E HEIZT 15 7 8 07-08  2.03.364
9 20 AtE B WHEIZT 19 10 9 09-10 2.05.419
10 18 =k =J|AN WEIZT 21 9 12 09-12  2.28.009
11 17 % Hth WHEIZT 22 12 10 10-12  2.06.615
12 14 Zgith FX HEIZT 22 11 11 11-11 2.09.197

Lozl)—

C-AFaJ—F




AR IEt % (59 KB
T o BR)

FERFRO1=F7a— MIVIRE—FRT—MEFEFILLXS 208108 12H

B E ZF 500m
R

148

EHIE #8E& No. K & B/a 24 L &5
1 1 26 /Mt BE PFEURZTHST 34 52.613

2 2 25 M A PFEURZHST 21 55.052

3 3 271 KE ¥®E PFEURZHST 13 55.768

4 4 24 FRE FK HEIST 8 1.05.613



SR NEGL TR (PR B IE AL )
va—khov IR

FOEKRFRO1ZTa— IFVIRE—FR 7 —MEFIEFDLRS

=F4E LZF 500m

59Uk JERE No K4 Bl B BRI A JIE 151 3% B 1 B0 5K k=
REE 1 26 /Nt (RS PFUVIHST 34 1 52.613
2 25 Hf KM PFEUVHST 21 2 55.052
3 27 KE EH PFEUVHST 13 3 55.768
4 24 Z5RE FK HEIZT 8 4 1.05.613
Loxl)—

C-AFaJ—K




AR B (B EIEL)

FOERFR1=7a— SV RE—FR7r—MEFEFILLKRE

B No K4 & Ba SF IEfE 500 BEIER Reiiix (EE
1 26 /hith BS PFEUVIHSTD 34 1 1 01
2 25 Hf B PFEUVHST 21 2 2 02
3 27 KF ¥ PFEUVHST 13 3 3 03
4 24 ZREFE FK HEIZT 8 4 4 04
Lozl)—

C-AFaJ—F




B IBHR(G2EED
Ca—Frov75R)

FERFRS1=F7a—MIVIRE—FRT—MEFEFILILKRE 208108 12H

= 4E &ZF 1000m
R

148

EHIE #84 No. K4 & B/a 24 L k=i
1 1 26 /Mt BE PFEURIHST 34 1.46.948

2 2 25 M A PFEURZHST 21 1.51.621

3 3 271 KE ¥ PFEURZHST 13 1.51.768

4 4 24 FRE FK HEIST 8 2.12.123



SR NEGL TR (PR B IE AL )
va—khov o

FRRFRS21=7La—rSVIRE—FR 7T —MEFEFDILKRS

= 4E ZF 1000m

59Uk JERE No K4 Bl B BRI A JIE 151 3% X 1 B0 5K k=
REE 1 26 /Nt (RS PFEUVHST 34 1 1.46.948
2 25 Hf KM PFEUVHST 21 2 1.51.621
3 27 KE EH PFEUVHST 13 3 1.51.768
4 24 ZREFE FK HEIZT 8 4 2.12.123
Loxl)—

C-AFaJ—K




Ca—FrFSyomR)

F0ERFRO1=7a—rIvIRE—F R —MEFEFLLRE

AT NESL

(S IES)

IIBSL No K4 & B85 SF JEfZA 500 1000 B5IER ReEattd  HE
1 26 /hith BS PFEUVHST 68 2 1 1 01-01  1.46.948
2 25 Hf B PFEUVHST 42 4 2 2  02-02 1.51.621
3 27 KE EH PFEUVHST 26 6 3 3 03-03 1.51.768
4 24 ZRE FK WHEIZT 16 8 4 4 04-04 212123
Loxl)—

C-AFaJ—F




B IEFR (G2FED
Ca—Frov75R)

FERFRS 127 a— MIYIRE—FR7T—FEFEF LIRS 205108 12H

B E ZF 1500m
R

148

EHIE #84 No. K4 g B/a 24 L B
1 1 26 /Mt BE PFEURZTHST 34 2.45.505

2 2 25 M KM PFEURZHST 21 2.51.654

3 3 271 KE ¥ PFEURZHST 13 2.53.638

4 4 24 FRE FK HEIST 8 3.20.305



SR NEGL TR (PR B IE AL )
va—kcov o

FRRFRS21=27L3—rSVIRE—RFR 7 —MEFEFDILAS

B E ZF 1500m

5%k JBBL No K# [BilES B AR NE AL = a0 ik

k=
REE 1 26 /Nt (RS PFEUVHST 34 1 2.45.505
2 25 Hf B PFEURZHST 21 2 2.51.654
3 27 KE ¥ PFEURZHST 13 3 2.53.638
4 24 ZRE FK HEIZT 8 4 3.20.305
Loxl)—

C-AFaJ—Fk




Ca—FrFSyomR)

FOERFRO1=7a—rSvIRE—F R —FREFEFDILRS

AT NS

(SRS

IIBSL No K4 & B85 SF JEfZA 500 1000 B5IER REattE EE
1 26 /hith BS PFEVZHST 102 1 2 1 1 01-01  1.46.948
2 25 Hf B PFEURZHST 63 2 4 2 2 02-02 1.51.621
3 27 KE EH PFEURZHST 39 3 6 3 3 03-03 1.51.768
4 20 Z5RE FK WHEIZT 24 4 8 4 4 04-04 212123
Lozl)—

C-AFaTJ—F




